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1. Answer any six questions from the following:
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(a) Distinguish between Discrete variable and Continuous variable.
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(b) Define attribute with two examples.
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(c) Write two advantages of diagrammatic representation of data.
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(d) What is weighted arithmetic mean?
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(¢) What is meant by measure of dispersion?
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(f) Mention two advantages of sample survey over complete enumeration method.
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(g) Find the Harmonic Mean (11.M.) of the following numbers:
4,8, 12
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(h) What is secondary data? Give two examples.
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(i) Find the value of Range of the numbers given below:
18, 25, 15, 20, 28, 22
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() What is Mean Deviation?
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X Finq the value of mean if the coefficient of variation is 5% and the standard
deviation is 4.
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(1) Mention four characteristics of a good measure of dispersion.
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2 Answer any fiwo questions from the following:
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bular prcscnlation of data?

(a) What are the advantages and d isadvantages of ta
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(b) Briefly discuss the disadvantages and uses of median.
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(¢) The profit and loss accounts of a business for the term period 2001-2000 is given

below. Draw Bar diagram to represent the data.
2001 2002 2003 2004 2005 2006

Year
Profit (in Rupees) 3000 5000 3500 - - 4000
Loss (in Rupees) - - - 3000 2500 -
<= TN AR 2001-2006 FEE S @ Hlog AR AF (1T ! poicii)

T I
(d) Find Mean, Median and Mode of the following numbers:
7,4,3,5,6,3,3,2,4,3,3,4,4,3,2,2,4,3,5,4,3,4,3,43, 1,2 3.
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3. Answer any three questions from the following: 10x3 =30
=R Q- foqlF de e wies
(2) Discuss different methods of collecting Primary data. Name different parts of 6+4
Tabular presentation of data.
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(b) Expenditure under major heads in Five-Year Plan in India is given below. Draw a
pie-chart to represent the data.
Bead (Crove Rupect)
Agriculture 8,000
Irrigation and Electricity 4,000
Industry and Minning 7,000
Transport and Communication 5,500
Others 2,500
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(c) Find Standard Deviation of following numbers. Discuss the advantages and
disadvantages of Standard Deviation.
1,2,3,4,56,7,8,9,10
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d) Explai .
(d) Explain the following concepts with suitable examples:
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(D) Class boundary (@) HreT)
(i) Mid-value (0 =)
(i) Width of class (3 o)

(iv) Relative frequency (Sesifes sifora)

(v) Frequency density (IRt T)

(¢) Draw the Cumulative Frequency Polygon (less than and more than) from the

following data and fing Median from it.
Class
225-229
230-234
235-239
240-244
245-249
250-254
255-259
260-264

Frequency

17
92
120
75
40
32
18
6
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(D) Arithmetic Mean of 20 findings is 85. It is revea

led later that 57 and 60 are

mistakenly written as 75 and 70 respectively. Find the actual mean. What are the

advantages of Geometric Mean?
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